Economics 5310

Aggregate Supply and Aggregate Demand and the Self-Correcting Economy

1. Use the model of aggregate demand and short-run aggregate supply to explain how each of the following would affect real GDP and the price level in the short run.

a. An increase in government purchases

Shifts the AD curves to the right causing an increase in real income and the price level in the short-run.

b. A reduction in nominal wages

Shifts the SAS curve downward, causing and increase in real income and a lower price level.

c. A major improvement in technology

Shifts the SAS curve downward and the LAS curve outward, resulting in higher real income and a lower price level.

d. A reduction in net exports

Shifts the AD curve to the left, lowering real income and the price level.

2. How would an increase in the supply of labor:

a. Affect the natural level of employment and potential output?  

Increases employment and potential output.

b. Affect the real wage, the level of real GDP, and the price level in the short run?

Lowers the real wage, increases real output, and lower the price level.

c. Affect long-run aggregate supply?

Shifts the LAS to the right.

d. If demand is unchanged, what kind of short-run gap is created between actual output and the natural rate of output?

Causes a recessionary gap between actual output and potential output.

3. “When the price level falls, people’s wealth increases.  When wealth increases, the real volume of consumption increases.  Therefore, a decrease in the price level will cause the aggregate demand curve to shift to the right?”  Do you agree with this statement?  Explain.

The price level is an endogenous variable; hence, more real wealth increases real output by a movement along the AD curve, not a shift in the curve.

4. Suppose the economy has a recessionary gap.  How can this gap be closed if we do nothing?  Alternatively, how could this gap be closed with discretionary policy?  How does the rigidity of wages influence the relative effectiveness in closing the gap?

If we do nothing, the price level and money wage will fall, but prices will fall by more.  The lower real wage increases the quantity of labor demand, and employment and output until the labor market “clears” at the natural rate of employment and output.

Discretionary policy would shift the AD curve to the right, increasing the price level until the real wage lowers to “clear” the labor market at its natural rate.

If wages are rigid, discretionary policy is necessary to avoid a long recession period in the labor market.  Eventually, the price level might fall enough to lower real wages to “clear” the labor market.

5. The following quote is taken from Greenspan’s monetary report to Congress on February 11th:  The more flexible an economy, the greater its ability to self-correct in response to inevitable, often unanticipated, disturbances, thus reducing the size and consequences of cyclical imbalances. Enhanced flexibility has the advantage of adjustments being automatic and not having to rest on the initiatives of policymakers, which often come too late or are based on highly uncertain forecasts.

a. What does Greenspan mean when he talks of flexibility?  (Refer to his February 11th speech.)  

Price and wage flexibility. 

b. Why is flexibility or response to unanticipated disturbances more important than if only anticipated disturbances occurred?

Real time information reduces the time lag and effect of adjustment to unanticipated disturbances.  Anticipated disturbances can be adjusted in current nominal wages and prices without adjustment.

c. How does this reduce the size and consequences of cyclical imbalances without dependence on initiatives of policymakers?

This is the self-correcting mechanism of wages and prices to the excess supply of inventories, including labor.

6. The cost of hiring workers includes not only payments made directly to workers but also payments made on behalf of workers, such as contributions by employers to pension plans and health-care insurance.  How would a decrease in the cost of employer-provided health insurance affect the potential output and employment of the economy?

This would act as a reduction in the nominal wage that shifts the SAS curve downward to eliminate a recessionary gap.  Output would rise, labor costs would decrease. and the price level would decrease.

7. Suppose the minimum wage is increased sharply.  How would this affect the equilibrium price level and output level in the short-run?  In the long-run?

In the short-run the SAS curve shifts upwards, increasing inflation and lowering output.  In the long-run the higher minimum wage could be absorbed with increased productivity and output and employment could rise as real wages decreased.

8. Explain the impact of each of the following on the economy.

a. A discovery that makes cold fusion a reality, greatly reducing the cost of producing energy.

This shifts the production function upward and adds to the demand and productivity of labor.  Real wages increase, employment increases, and output increases.  The LAS curve shifts outward and the SAS curve shifts downward, lowering the price level as output expands.

b. An increase in the payroll tax.

Adds to business wage costs shifting the SAS curve upward.  Also reduces consumption causing the AD curve to shift to the left unless offset by more government spending.  The higher wage rate would eventually be matched by a higher price level that causes the real wage clear the labor market with no permanent effect on real output.
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